

















This is only for the equilibrium state of the climate.
At short time scales, this feature cannot be found.
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T=Cp/ fs












Resulted in fs = 3.3 W/m?/K, i.e., neutral feedback
Or, 2xCO, forcing — 1.1K






























Numerical solution of f_ and m (or p): easier

Analytic solution is also available (not discussed here)
(solving transcendental equations; more math)









1. Most heat is transported to deep ocean (u > 80%).
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2. Total feedback coefficients: f, , =6 —4.7=1.3 (t, =1 yr);
fi,.=6-5.0=1.0 (t,=10yr)
3. Positive feedback obtained:
feedback coefficients: fc =4.7 -2.7=2.0
fc=5.0-2.7=2.3















F (£50) = 1.8W/m?

fs =6, fm = 5






Surface T uncertainty 0.1K — not very sensitive

Q,.; uncertainty (25% or ~0.2W/m?) — sensitive

Actual error in TOA net or ocean heat storage change
measurements may be larger or smaller than 0.2 W/m?2.
Current the best error estimate is about 0.13 W/m? (1-0).
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